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Name: K«QL’

Hw 11-1; Quach‘ilattrals and Parallelograms

Geometry

Properties of Paraltelograms

Farallelograms have all of these properties:
-—bolh pairs of opposite sides parallel
~~both pairs of opposite sides congruent
—both pairs of opposite angles congruent

—gdisgonals bisect each other

— )

Shade the answers below to discover the corporation whose success is based on the

invantion of Chester Carlson,

LrcA=10EK=__ YO
2HCK=18,0X= A _
3.1f LCEK = 85°, LCAK= R
4.1f LECA =130°, LCAK= 50"
5.1f £1 = 40° and 22 = 65°, ZEKA = 105
6. HEX=15EA= B0 _
7 MCE=12,KA=___ 12
8.1 £8=25° and 7 = 35", ZEKA = | (). E

A CX = B - 44 and XK = 2x + 25, then x =

10,1 £7 = 30° and 24 = 40°, /EKA=_ WO _.
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17, Givent CIABCD
Prove: SAED = ACER

both pairs
Stalemeurs Reazons
\.QHB,‘QD__ 1L guen . .
2. AP = CR_(5) |2 i/ both pairs opposite sides =
3 _AD/ (B

. Iz 3. _i7-aboth pairs opposite sides //
4 L1222 () Wil Zald et Yl
§.43%544  (A) |5 /= Xadt. ity
b DAEDEAER . ASA

18, Given: tTWXYZ
ZMLWX, XN L7V

Prove: AZMW = AXNY \,5
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Lesson 2: Parallelogram Proofs

Parallelogram Theorems

~Aarallal

1) If both pairs of opposite sides of a quadrilateral are esngmwent,
then the quadrilateral is a parallelogram.

2) If one pair of opposite sides of a quadrilateral 1s both congruent and parallel,
then the quadrilateral is a parallelogram.

3) If both pairs of opposite angles of a quadrilateral are congruent,
then the quadrilateral is a parallelogram.

4) If the diagonals of a quadrilateral bisect each other,
then the quadrilateral is a parallelogram.
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To prove that a quadrilateral is a parallelogram, prove that any one of
the following statements is true:

* Both pairs of opposite sides are parallel.

¢ Both pairs of opposite sides are congruent.

* One pair of opposite sides 1s both congruent and parallel.
* Both pairs of opposite angles are congruent.

® The diagonals bisect each other.

S

7) both pairs opposite sides // —» ,— ) “o

8) Dboth pairs opposite sides= —» /7 rove
%« 9) one pairoppositesides//and= —»

10) Dboth pairs opposite /’s = - £ 7
11) diagonals bisect each other —» —
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Based on the given information and diagram, determine whether or not we are able to conclude that the
quadrilateral is a parallelogram. There may be multiple reasons for some examples.

() f
Yes %
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(c) A B

D C

AABC = ACDA
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(d) A B

D c__
E is the midpointof AC .
DE =BE
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(e)

Al=.2 A= 73
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() A B

/BAD = /CDA €
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Ex 1: Given: AB=CD, /A1=.2
Prove: ABCD is a parallelogram

Statements Reasons
L AB=CD <I1=42 [\ chen
2.CD // AB 2. Zalt il %5 |
RBCD s 2 O 3. one pair ppesides i/ £= — [

12
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Ex2:Given: A1 =2, £3=/4
Prove: PORS is a parallelogram

Statements Reasons
L LV=22 L Glwven.
£3=¢4 ,
2.5R.// D 2=0R. (M. xX¢—> ||
SP /R !

3PgRs isall B hoth (‘)a'\rS ol cpp_ SIS >1

13
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. . i B
Ex 3: Given: 4ECF is a parallelogram: FD =BE A L
Prove: AD=BC

Statements Reasons
WRECE is « [ L_&\wen,
FDE=RE (S)

I AE=CE ) D L7 =2 00Q 1004 =
RE=LE(AY B ~opg¥'s=
HNFD=ACEB 4 SAS

5. AD= B¢ 5. CPCIC
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Ex 4: Given: 4BCD is a parallelogram.

A
AD = DE N
Prove: DBCE is a parallelogram.

E C

Statements Reasons
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Ex 5: Given: RX = RY
ARYS = ATZS

Prove: RTZX is a parallelogram.

Statements Reasons

April 11, 2017
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Ex 6: A B

Given: E is not the midpoint of AC E

Prove: ABCD is not a parallelogram

Statements Reasons




2 Parallelogram Proofs '16-'17.notebook

HW 11-2

Homework Packet 11-2
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